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QUESTION 1

How can a developer rebuild an incrementally updated cube?
A. Enabletime-based partitioning and rebuild the cube.

B. Clean house and rebuild the cube.

C. Save the model, and revert to the backup .mdl file.

D. Delete the old .mdc file and recreate the entire cube.

Correct Answer: D

QUESTION 2

Transformer is unable to locate one of the source files for a data source in the model, and the model update fails. Which
type of files can be used to restart the processing at the point of failure?

A. .py?
B. .qy?
C..mdl
D. .madx

Correct Answer: B

QUESTION 3

When the model contains two data sources that provide date values, how can the developer avoid ambiguity
whenTransformer sets the current time period?

A. Disable the data source\\'s ability to set the current time period.

B. Assign the current date (obtained from the system clock) as the current period.

C. Let Transformer assign the date closest to the model\\'screation date as the current period.
D. Enter the initial current period and adjust it to match the system date and time.

Correct Answer: A

QUESTION 4

How can a developer customize the reporting period so that the year has 52 weeks, with 7 days in each week, yielding
364 days?
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A. Set up a lunar time period.

B. Set up a time period based on a calendar year.
C. Set up a time period based on fiscal year.

D. Set up a relative time category.

Correct Answer: A

QUESTION 5

Where are the log files accessed to troubleshoot issues?
A. In the Content store.

B. In the Binfolder in the installation directory.

C. In the path set in Transformer preferences.

D. In the Temp directory.

Correct Answer: C
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